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 ������	����
���
��������
����������������
�������������������� !� 
"�
� �����	
���������� ��#��������$�!%��&��'
�(%)�����*���+,����-.� �-��������$��#��#�
!%��&� )�/���!%��&���.�'%��������#�����/�0!%��&�'%#
���-.� �-� Personal Computer �+�)���
�����$��&+ SPSS Statistics 17.0 )�/����
#�
D� )�����*������#� 30 (�' �+�������'��� 
(Pilot Test) �'
�(%�D��*����
�+�/�����I�
�J�!� �����
� (CronbachMs Alpha Coefficient) P�. 
�'%�D��Q��.
!� �D��
�+�/�����I���
�"
��0�+,� 0.891 )�' #D����#���(-.��
.� (Nunnally, 1994) 
�����*����+�(%��������	��D��+ P�. )�D ���#�����/�0!%��&����'
 ��W 
  �����)��)�����*���
W� �'%������)���+�
W ��W� 400 (�' �'
)�D �+,����)��
)�����*��)��������0 ����#� 370 (�' )�/)��)�����*����%�
�"�
� ����.��� ��X�
��
������)�D ���.  ����#� 30 (�'  
 )�����*����.�����*�(%�� ��#��

�'%�
W� ������#��
W ��W� 269 (�' �'
��������
)��)�����*��������0 ����#� 239 (�' )�/��������)��)�����*����%�
�"�
� ����.
��� ��X�
��������)�D ���.  ����#� 30 (�'  
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4.1    ����	
����
�������������
�����������������	 �� 

 
 ���#�����/�0��[�
�	[/�D#������!� ���D��
#�
D�  �'
�
#)+���.����������
��
�D#���W+�/���'%#
 �"� ��
� ��
�'%�D#������ (�D��'-��) �/'
�������	��& ��' )�/�	
��
���
�
���
��������
��
����������
�
� ��$�!%��&�������D��
#�
D� �
W ��W� 269 �� +�/�#�\�
)�����*��'%#
�+�)�������#[�� �*��� SPSS ���)�������[�
�	[/�D#�������'%'
 ��W 

 

X�"��. 4.1 )�' !%��&����D��
#�
D� ���)������"� 

 
 
�! "�#D����D��
#�
D� �+,��"��]� ����#D��"�(�
 �'
�"��]�  167 �� ��'
�+,��%�
�/ 62.1 �"�(�
 102 �� ��'�+,��%�
�/ 37.9 

 

X�"��. 4.2 )�' !%��&����D��
#�
D� ���)�������
� 

 


�!

37.9%

62.1%

�]� 

(�


�	��

1.9%
18.2%

79.9%

!
"� #��
�	�
 20 %&

!
"� 21-30 %&

!
"� 31-40 %&

!
"� 41-50 %&

!
"� 51 %&+�,�-%
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 �	�� .�	�
�/���#�	!"�
��%0��/���!
"� 21-30 %& �
��
�1�2 32"�
4�
�	� 215 �� ��2
�%0��5!"/6 79.9 �!�/��
�%0��/���!
"� 31-40 %& 4�
�	� 49 �� ��2�%0��5!"/6 18.2 �/���!
"� 
31-40 %& ��2�%0��5!"/6 1.9 32"-���
�/���!
"�#��
�	�
 20 %& �/6 51 %&+�,�-% 

 

X�"��. 4.3 )�' !%��&����D��
#�
D� ���)�������
�'%�D#������ (�D��'-��) 

 
 
	������������� (��������) .�	�
�/���#�	!"�
��
�
"-251�	�����/ 20,001-

30,000 �
� �
�
��
�1�2 32"�
4�
�	� 115 �� ��2�%0��5!"/6 42.8 �!�/��
�
"-251�	�����/ 
30,001-40,000 �
� 4�
�	� 63 �� ��2�%0��5!"/6 23.4 �
"-251�	�����/ #��
�	�
 20,000 �
� 
4�
�	� 34 �� ��2�%0��5!"/6 12.6 �
"-251�	�����/ 50,001 �
�+�,�-% 4�
�	� 30 �� ��2�%0�
�5!"/6 11.2 �
"-251�	�����/ 40,001-50,000 �
� 4�
�	� 27 �� ��2�%0��5!"/6 10 

 

7
.�
� 4.4 �12�+5!�8/�/���#�	!"�
�4�
���#
��62���
�9��:
18�1�2 

 

����"�#$���%��� ('$�
"(��)

23.4% 42.8%

10.0%

11.2% 12.6% �.���#D� 20,000 ���

20,001-30,000 ���

30,001-40,000 ���

40,001-50,000 ���

50,001 ���!�W��+


�����	
� �!	�"#���

56.1%

43.9%

%��<<
#�


%��<<
3�

%��<<
�!�

!=��>
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 ��"�����!*� �#��#%" .�	�
�/���#�	!"�
��
�/'
�������	��& ��' +��]]���� �
�
�
�1�2 32"�
4�
�	� 151 �� ��2�%0��5!"/6 56.1 �!�/��
�%0��/'
�������	��& ��' +��]]��� 
4�
�	� 118 �� ��2�%0��5!"/6 43.9 32"-���
�/'
�������	��& ��'+��]]���� )�/�-.�a 

 

7
.�
� 4.5 �12�+5!�8/�/���#�	!"�
�4�
���#
��	
��
����
���
��������
��
����������
�
� 

 
 

 ��	$%��&��	
�'	(�
�

$�	#�	
�#�����(�	�	
 .�	�
�/���#�	!"�
��
�/'
�
�	
��
����
���
��������
��
����������
�
��
��	�
 5 ���,�/�2=!� �
��
�1�2 32"�
4�
�	� 91 
�� ��2�%0��5!"/6 33.8 �!�/��
�%0��	
��
� 1-2 ���,�/�2=!� 4�
�	� 86 �� ��2�%0��5!"/6 32.0 
�	
��
� 3-4 ���,�/�2=!� 4�
�	� 72 �� ��2�%0��5!"/6 26.8 �/6�	
��
�#��
�	�
 1 ���,�/�2=!� 
4�
�	� 20 �� ��2�%0��5!"/6 7.4 

 

 

 

 

 

 

��	$%��&��	
�'	(�
�

$�	#�	
�#�����(�	�	


26.8%

32.0%
33.8%

7.4%

#��
�	�
  1 ���,�/�2=!�

1-2 ���,�/�2=!�

3-4 ���,�/�2=!�

�
��	�
 5 ���,�/�2=!�
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4.2    ����	
����
���"������,--�����#$�.�/
�
�	"���������
��0�0�����0�
�'�	� 

 ��
�
���,���2%�6�!�25	" +5!�8/��
�"	����
�����85����	
���
"���
��@5�
� +5!�8/
��
�"	����
�����85���%�63"@�A�
�-25��� +5!�8/��
�"	����4#�
46�@5�
����3�3/"
 +5!�8/��
�"	���
��9��#�#�!.B#������
�46�@5�
� +5!�8/��
�"	����	
�%/!27�"�/6�	
��%0�1�	�#�	 +5!�8/
��
�"	���%�61����7
.+!����3�3/"
 ������D#�+�/�����D���.�����'�/)��)�D�/�/'
�'
 ��W 

 �/'
� 1 �/)�� ���
*�  ��D��$�'%#
�
D� 
�.  
 �/'
� 2 �/)��  ���
*�  ��D��$�'%#
 
 �/'
� 3 �/)��  ���
*�  �Q
a 
 �/'
� 4 �/)��  ���
*�  ��$�'%#
 

 �/'
� 5 �/)��  ���
*�  ��$�'%#
�
D� 
�.   
 ��
�
���
�"	����	
�1��4�����3�3/"
 �����'�/)��)�D�/�/'
�'
 ��W 
 �/'
� 1 �/)�� ���
*�  ��D��$�'%#
�
D� 
�.  (�%�
�#D� 1 ��
W /�'-��) 
 �/'
� 2 �/)��  ���
*�  ��D��$�'%#
 (1-2 ��
W /�'-��) 
 �/'
� 3 �/)��  ���
*�  �Q
a (3-4 ��
W /�'-��) 
 �/'
� 4 �/)��  ���
*�  ��$�'%#
 (5-6 ��
W /�'-��) 
 �/'
� 5 �/)��  ���
*�  ��$�'%#
�
D� 
�.  (����#D� 6 ��
W /�'-��) 
 �/'
��D��Q��.
��.����#[�'%'
 ��W 
 1.00 c 1.80 ���
*�  �/'
��#����'��$��D�+d��

��.�D���%���'���
���
�

�������
������������%�
��.��' 
 1.81 c 2.60 ���
*�  �/'
��#����'��$��D�+d��

��.�D���%���'���
���
�

�������
������������%�
 
 2.61 c 3.40 ���
*�  �/'
��#����'��$��D�+d��

��.�D���%���'���
���
�

�������
�����������+�����  
 3.41 c 4.20 ���
*�  �/'
��#����'��$��D�+d��

��.�D���%���'���
���
�

�������
�������������� 
 4.21 c 5.00 ���
*�  �/'
��#����'��$��D�+d��

��.�D���%���'���
���
�

�������
����������������.��' 
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���� ��. 4.1 )�' �/)���Q��.
 �D����.
 �������e�� �#�����
 ���.
#�
��/'
��#����'��$��D�

+d��

��.�D���%���'���
���
��������
����������� 

+d��

��.�D���%���'���
���
� 
�������
����������� 

�/'
��#����'��$� 
��D��$�
'%#


�
D� 
�.  

��D��$�
'%#
 

�Q
a ��$�
'%#
 

��$�'%#

�
D� 
�.  

Mean S.D. �#�� 
���
 

1.����
��&%*� �#�� D�
������(% �� (PEOU)      3.96 0.66 ��� 
1.1 ��[��'#D�������
��&%#�������(% ���)��
��
��W#�-��+,���-.�  D�
 ��[�����*����#���!%���
)�/���
��&%'%#
�
#�� �'% 

0 
(0.0) 

0 
(0.0) 

26 
(9.7) 

127 
(47.2) 

116 
(43.1) 

4.33 0.65 �����.��' 

1.2 !%��&�!� #�������(% ���)����
��W#�-����'%
 D�
���)��D !%��&� �(D� ��
 �-�"��"0 �������0��� 

0 
(0.0) 

22 
(8.2) 

78 
(29.0) 

100 
(37.1) 

69 
(25.7) 

3.80 0.92 ��� 

1.3 *%�������������)����
��W#�-����(%��
������ ��[�����*�����������D� a �'%���+��� 

8 
(3.0) 

22 
(8.2) 

41 
(15.2) 

124 
(46.1) 

74 
(27.5) 

3.87 1.01 ��� 

1.4 *%�������������)����
��W#�-����(%��
������ ��[��'#D�\&%��.����������D�%� �(%
�#�������*�
�/������(% ���)����
��W#�-�  

2 
(0.7) 

37 
(13.8) 

39 
(14.5) 

116 
(43.1) 

75 
(27.9) 

3.84 1.01 ��� 

2.����
��&%*� +�/�
(�0��.�'%�
� (PU)      4.00 0.81 ��� 
2.1 ��[��'#D�����)����
��W#�-���+�/�
(�0�D�
��������������������� 

7 
(2.6) 

15 
(5.6) 

56 
(20.8) 

120 
(44.6) 

71 
(26.4) 

3.87 0.96 ��� 

2.2 ��[��'#D�����)����
��W#�-�(D#
��%����������
�'%�/'#� �#'��$#  

7 
(2.6) 

20 
(7.4) 

39 
(14.5) 

133 
(49.4) 

70 
(26.0) 

3.89 0.96 ��� 

2.3  ��[��'#D�����)����
��W#�-�(D#
��%��D�%� 
�'�����
��
#��! (password) ��-���
�P$� 

8 
(3.0) 

8 
(3.0) 

23 
(8.6) 

104 
(38.7) 

126 
(46.8) 

4.23 0.94 �����.��' 

3.�������.�/�(% ���������
� (BI)      3.68 0.86 ��� 
3.1 ��[�����/�����������
���������.������
�)����
��W#�-����(%�
������%�������&��%� 

8 
(3.0) 

16 
(5.9) 

64 
(23.8) 

101 
(37.5) 

80 
(29.7) 

3.85 1.01 ��� 

3.2 �������*%�������������������)��
��
��W#�-����(% ��[�/�(%������)�D��� 

10 
(3.7) 

10 
(3.7) 

60 
(22.3) 

135 
(50.2) 

54 
(20.1) 

3.79 0.93 ��� 

3.3 �������*%�������������������)��
��
��W#�-����(% ��[�/�(%�������D�
 

16 
(5.9) 

24 
(8.9) 

127 
(47.2) 

70 
(26.0) 

32 
(11.9) 

3.29 0.99 +�����  

3.4 ��[��$�'%#
��.�/�(%����)����
��W#�-��"-.�
�
'��$�!%��&��� ���� ��!� ��[�
������� 

14 
(5.2) 

22 
(8.2) 

57 
(21.2) 

103 
(38.3) 

73 
(27.1) 

3.74 1.10 ��� 

3.5 ��[�/)�/����"-.����%�(%�������
���������.��
����(%����)����
��W#�-��������%������ 

12 
(4.5) 

13 
(4.8) 

104 
(38.7) 

71 
(26.4) 

69 
(25.7) 

3.64 1.06 ��� 
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���� ��. 4.1 (�D�) 

+d��

��.�D���%���'���
���
� 
�������
����������� 

�/'
��#����'��$� 

��D��$�
'%#


�
D� 
�.  

��D��$�
'%#
 

�Q
a ��$�
'%#
 

��$�'%#

�
D� 
�.  

Mean S.D. �#�� 
���
 

4.�
�������.��\��D�"o����������(%�������
�(A)      4.13 0.70 ��� 

4.1 ��[��'#D��#��*&��%� !� !%��&��+,���. ����
]
��.��' ����������)����
��W#�-����(%�������� 

4 
(1.5) 

2 
(0.7) 

26 
(9.7) 

99 
(36.8) 

138 
(51.3) 

4.36 0.81 �����.��' 

4.2 ��[��'#D��#���/'#��+,���. ����
]��.��' ���
�������)����
��W#�-����(%�������� 

4 
(1.5) 

16 
(5.9) 

42 
(15.6) 

123 
(45.7) 

84 
(31.2) 

3.99 0.92 ��� 

4.3 ��[��'#D��#���+,��D#��
#!� !%��&��+,���. 
����
]��.��' ����������)����
��W#�-����(% 

0 
(0.0) 

8 
(3.0) 

32 
(11.9) 

84 
(31.2) 

145 
(53.9) 

4.36 0.81 �����.��' 

4.4 ��[��'#D�+�/�
(�0��.�'%�
��������)��
��
��W#�-����(%���������+,���. ����
]��.��' 

6 
(2.2) 

12 
(4.5) 

53 
(19.7) 

128 
(47.6) 

70 
(26.0) 

3.91 0.91 ��� 

4.5 ��[��'#D�����������)����
��W#�-����(%��
������ (D#
��%����������������#���D�����  

6 
(2.2) 

7 
(2.6) 

47 
(17.5) 

118 
(43.9) 

91 
(33.8) 

4.04 0.91 ��� 

5.�#��+��'X

)�/�#���+,��D#��
# (SP)      3.29 1.03 +�����  

5.1 ��[��'#D�����������)����
��W#�-����(%�
�
������'%������ �����#��+��'X

��'%��!%��&�
�� ���� ��!� ��[ 

18 
(6.7) 

31 
(11.5) 

56 
(20.8) 

103 
(38.3) 

61 
(22.7) 

3.59 1.15 ��� 

5.2 ��[��'#D�����)����
��W#�-������*+�+p� 
!%��&��D#��
#)�/!%��&��� ���� ��!� ��[�'% 

15 
(5.6) 

30 
(11.2) 

79 
(29.4) 

88 
(32.7) 

57 
(21.2) 

3.53 1.11 ��� 

5.3 ��[��D���#���
 #���-.� �#��+��'X

!� 
!%��&�������(%����)����
��W#�-� 

33 
(12.3) 

64 
(23.8) 

60 
(22.3) 

72 
(26.8) 

40 
(14.9) 

3.08 1.26 +�����  

5.4 ��[��'#D��#��+��'X

!� !%��&���D��\��D�
����(%����)����
��W#�-���������������� 

44 
(16.4) 

63 
(23.4) 

60 
(22.3) 

66 
(24.5) 

36 
(13.4) 

2.95 1.29 +�����  

6.+�/�����X�"!� �������
� (TSE)      3.76 0.77 ��� 
6.1 ����)����
��W#�-������% �����#���/'#�
)�/�#'��$# 

3 
(1.1) 

4 
(1.5) 

39 
(14.5) 

147 
(54.6) 

76 
(28.3) 

4.07 0.76 ��� 

6.2 ����)����
��W#�-������% ����+�/�����X�" 
!%��&�*&��%�  

6 
(2.2) 

28 
(10.4) 

61 
(22.7) 

118 
(43.9) 

56 
(20.8) 

3.71 0.99 ��� 

6.3 ����)����
��W#�-�(D#
�'!
W���������� ��
)�/+�/�

'�#�� 

5 
(1.9) 

13 
(4.8) 

55 
(20.4) 

103 
(38.3) 

93 
(34.6) 

3.99 0.96 ��� 

6.4 ��["���$�����������)����
��W#�-��
��
D� 
)"�D���
 ��D#D��/�+,�����%� ������ X�"
���0 

21 
(7.8) 

42 
(15.6) 

86 
(32.0) 

82 
(30.5) 

38 
(14.1) 

3.28 1.13 +�����  
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���� ��. 4.1 (�D�) 

+d��

��.�D���%���'���
���
� 
�������
����������� 

�/'
��#����'��$� 

��D��$�
'%#


�
D� 
�.  

��D��$�
'%#
 

�Q
a ��$�
'%#
 

��$�'%#

�
D� 
�.  

Mean S.D. �#�� 
���
 

7.�
�	[/�#�������������
� (Personal 
Innovativeness) 

     2.08 0.66 �%�
 

7.1 ��[�D��!D�#��-�!%��&����.
#�
��������
����D
����  

22 
(8.2) 

95 
(35.3) 

68 
(25.3) 

78 
(29.0) 

6 
(2.2) 

2.82 1.02 +�����  

7.2 ��[)�/����"-.����-����&%�
����.
#�
��������
�
���D���� 

68 
(25.3) 

128 
(47.6) 

44 
(16.4) 

26 
(9.7) 

3 
(1.1) 

2.14 0.94 �%�
 

7.3 ��["&'��
�
��"-.����-����&%�
����.
#�
�
�������
����D���� 

46 
(17.1) 

116 
(43.1) 

64 
(23.8) 

41 
(15.2) 

2 
(0.7) 

2.39 0.97 �%�
 

7.4 ��[���#��
��'��!%��D#��
������-�����
�������
����D���� 

132 
(49.1) 

107 
(39.8) 

23 
(8.6) 

7 
(2.6) 

0 
(0.0) 

1.65 0.75 �%�
��.��' 

7.5 ��[�!%��D#������ �������)�/"
r��
�������
�!� ���	
���-���� ���X�
������� 

184 
(68.4) 

71 
(26.4) 

8 
(3.0) 

6 
(2.2) 

0 
(0.0) 

1.39 0.66 �%�
��.��' 

 ������� ��. 4.1 ���#�����/�0!%��&��#����'��$��D�+d��

��.�D���%���'���
���
�
�������
�����������!� "�
� �� �'
���+�/�#�\�)�����*��'%#
�+�)�������#[�� 
�*��� SPSS )�D 
D�
���+d��

'
 ��W  
 ����
��&%*� �#�� D�
������(% �� "�#D����#����'��$����.
#�
�������
��&%#�������(%
 ���)����
��W#�-��+,���-.�  D�
 �����*����#���!%���)�/���
��&%'%#
�
#�� �'%�
&D���/'
���$�
'%#
�
D� 
�.  �'
���/)���Q��.
��D��
� 4.33 �� � ���-� *%�������������)����
��W#�-����(%��
������ ��[�����*�����������D� a �'%���+����
&D���/'
���$�'%#
 �'
���/)���Q��.
��D��
� 
3.87 )�/*%�������������)����
��W#�-����(%�������� \&%��.����������D�%� �(%�#�������*
�
�/������(% ���)����
��W#�-��
&D���/'
���$�'%#
 �'
���/)���Q��.
��D��
� 3.84 )�/!%��&�
!� #�������(% ���)����
��W#�-����'% D�
���)��D !%��&��D� a �(D� ��
 �-�"��"0 �������0��$� 
#����� ���
��� �
&D���/'
���$�'%#
 �'
���/)���Q��.
��D��
� 3.80 ������'
� �'
X�"�#�
�#����'��$��D�+d��

��'%������
��&%*� �#�� D�
������(% �� �
&D���/'
���$�'%#
 ���/)��
�Q��.
��D��
� 3.96 
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 ����
��&%*� +�/�
(�0��.�'%�
� "�#D����#����'��$����.
#�
�����)����
��W#�-�(D#
��%
��D�%� �'�����
��
#��! (Password) ��-���
�P$��
&D���/'
���$�'%#
�
D� 
�.  �'
���/)���Q��.

��D��
� 4.23 �� � ���-� ����)����
��W#�-�(D#
��%�����������'%�/'#� �#'��$# �
&D���/'
�
��$�'%#
 �'
���/)���Q��.
��D��
� 3.89 )�/����)����
��W#�-���+�/�
(�0�D����������������
�������
&D���/'
���$�'%#
 �'
���/)���Q��.
��D��
� 3.87 ������'
� �'
X�"�#��#����'��$�
�D�+d��

��'%������
��&%*� +�/�
(�0��.�'%�
� �
&D���/'
���$�'%#
 ���/)���Q��.
��D��
� 4.00 
 �������.�/�(% ���������
� "�#D����#����'��$����.
#�
��#�������/����������
�
���������.�������)����
��W#�-����(%�
������%�������&��%��
&D���/'
���$�'%#
 �'
��
�/)���Q��.
��D��
� 4.85 �� � ���-� �������*%�������������������)����
��W#�-����(% 
��[�/�(%������)�D����
&D���/'
���$�'%#
 �'
���/)���Q��.
��D��
� 3.79 )�/��[��$�'%#
��.�/
�(%����)����
��W#�-��"-.��
'��$�!%��&��� ���� ��!� ��[�
��������
&D���/'
���$�'%#
 �'
��
�/)���Q��.
��D��
� 3.74 )�/��[�/)�/����"-.����%�(%�������
���������.������(%����)��
��
��W#�-��������%�������
&D���/'
���$�'%#
 �'
���/)���Q��.
��D��
� 3.64 )�/�������*%�
������������������)����
��W#�-����(% ��[�/�(%�������D�
�
&D���/'
��Q
a �'
���/)��
�Q��.
��D��
� 3.29 ������'
� �'
X�"�#��#����'��$��D�+d��

��'%���������.�/�(% ��
�������
� �
&D���/'
���$�'%#
 ���/)���Q��.
��D��
� 3.68 
 �
�������.��\��D�"o����������(%�������
� "�#D����#����'��$����.
#�
��#��
*&��%� !� !%��&��+,���. ����
]��.��' ����������)����
��W#�-����(%���������
&D���/'
���$�
'%#
�
D� 
�.  )�/�#���+,��D#��
#!� !%��&��+,���. ����
]��.��' ����������)����
��W#�-����(%
���������
&D���/'
���$�'%#
�
D� 
�.  �'
���/)���Q��.
��D��
� 4.36 �� � ���-� ���������
�)����
��W#�-����(%�������� (D#
��%����������������#���D����� �
���

�
&D���/'
���$�
'%#
 �'
���/)���Q��.
��D��
� 4.04 )�/�#���/'#��+,���. ����
]��.��' ����������)��
��
��W#�-����(%���������
&D���/'
���$�'%#
 �'
���/)���Q��.
��D��
� 3.99 )�/+�/�
(�0��.
�'%�
��������)����
��W#�-����(%���������+,���. ����
]��.��'�
&D���/'
���$�'%#
 �'
��
�/)���Q��.
��D��
� 3.91 ������'
� �'
X�"�#��#����'��$��D�+d��

��'%���
�������.��\��D�
"o����������(%�������
� �
&D���/'
���$�'%#
 ���/)���Q��.
��D��
� 4.13 
 �#��+��'X

)�/�#���+,��D#��
# "�#D����#����'��$����.
#�
�����������)��
��
��W#�-����(%�
�������'%������ �����#��+��'X

��'%��!%��&��� ���� ��!� ��[�
&D��
�/'
���$�'%#
 �'
���/)���Q��.
��D��
� 3.59 �� � ���-� ����)����
��W#�-������*+�+p� 
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!%��&��D#��
#)�/!%��&��� ���� ��!� ��[�'%�
&D���/'
���$�'%#
 �'
���/)���Q��.
��D��
� 3.53 
)�/��D���#���
 #���-.� �#��+��'X

!� !%��&�������(%����)����
��W#�-��
&D���/'
��Q
a 
�'
���/)���Q��.
��D��
� 3.08 )�/�#��+��'X

!� !%��&���D��\��D�����(%����)��
��
��W#�-�����������������
&D���/'
��Q
a �'
���/)���Q��.
��D��
� 2.95 ������'
� �'

X�"�#��#����'��$��D�+d��

��'%���#��+��'X

)�/�#���+,��D#��
# �
&D���/'
��Q
a ��
�/)���Q��.
��D��
� 3.29 
 +�/�����X�"!� �������
� "�#D����#����'��$����.
#�
�����)����
��W#�-������%
 �����#���/'#�)�/�#'��$#�
&D���/'
���$�'%#
 �'
���/)���Q��.
��D��
� 4.07 �� � ���-� 
����)����
��W#�-�(D#
�'!
W���������� ��)�/+�/�

'�#���
&D���/'
���$�'%#
 �'
��
�/)���Q��.
��D��
� 3.99 )�/����)����
��W#�-������% ����+�/�����X�" !%��&�*&��%� �
&D��
�/'
���$�'%#
 �'
���/)���Q��.
��D��
� 3.71 )�/"���$�����������)����
��W#�-��
��
D� 
)"�D���
 ��D#D��/�+,�����%� ������ X�"
���0�
&D���/'
��Q
a �'
���/)���Q��.
��D��
� 3.28 
������'
� �'
X�"�#��#����'��$��D�+d��

��'%��+�/�����X�"!� �������
� �
&D���/'
���$�
'%#
 ���/)���Q��.
��D��
� 3.76 
 �
�	[/�#�������������
� "�#D����#����'��$����.
#�
���[�D��!D�#��-�!%��&�
���.
#�
��������
����D�����
&D���/'
��Q
a �'
���/)���Q��.
��D��
� 2.82 �� � ���-� ��[
"&'��
�
��"-.����-����&%�
����.
#�
��������
����D�����
&D���/'
���D��$�'%#
 �'
���/)���Q��.

��D��
� 2.39 )�/��[)�/����"-.����-����&%�
����.
#�
��������
����D�����
&D���/'
���D��$�'%#
 
�'
���/)���Q��.
��D��
� 3.71 )�/��[���#��
��'��!%��D#��
������-������������
����D����
�
&D���/'
���D��$�'%#
�
D� 
�.  �'
���/)���Q��.
��D��
� 1.65 )�/��[�!%��D#������ �������
)�/"
r���������
�!� ���	
���-���� ���X�
��������
&D���/'
���D��$�'%#
�
D� 
�.  �'
��
�/)���Q��.
��D��
� 1.39 ������'
� �'
�#��#����'��$��D�+d��

��'%���������.����)�/
���%(�'�������
� �
&D���/'
���D��$�'%#
 ���/)���Q��.
��D��
� 2.08 
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4.3    ����"#��2��-3�������������
��0�0�����0�
�'�	� 

 
X�"��. 4.6 )�' �����e�� ��#��

 

 
 
 
 
 
 
 
 
 
 
 
 

4.3.1 ����'���1��#�C
�25	"�
��
��
1��%�61����D1�1��.���A�.
"�A1�� 
 

#
�
��
� 4.2 �12��
��21!�1��#�C
�25	"�
��
��
1��%�61����D1�1��.���A�.
"�A1�� 
1��#�C
� PearsonMs 

Correlation 
Sig. 1��%E/ 

Ha: �
�����85���%�63"@�A+!����3�3/"
1��E/#�!��9��#�#�!.B#������
�46�@5���3�3/"
 0.628** 0.000 "!���� 
Hb: �
�����85���%�63"@�A+!����3�3/"
1��E/#�!�4#�
�
�46�@5���3�3/"
 0.738** 0.000 "!���� 
Hc: �
�����85����	
���
"���
��@5���3�3/"
1��E/#�!�
�����85���%�63"@�A+!����3�3/"
  0.661** 0.000 "!���� 

Hd: �
�����85����	
���
"���
��@5���3�3/"
1��E/#�!��9��#��
��
E/#�!.B#������
��@5
���3�3/"
 

0.645** 0.000 "!���� 

He: %�61����7
.+!����3�3/"
1��E/#�!�
�����85���%�63"@�A+!����3�3/"
  0.668** 0.000 "!���� 
Hf: %�61����7
.+!����3�3/"
1��E/#�!�
�����85����	
���
"���
��@5���3�3/"
  0.661** 0.000 "!���� 

Hg: �#��+��'X

)�/�#���+,��D#��
#1��E/#�!�
�����85���%�63"@�A+!����3�3/"
  0.558** 0.000 "!���� 
Hh: /��:F6�	
�1��4���3�3/"
1��E/#�!�
�����85���%�63"@�A+!����3�3/"
 0.021 0.737 %G��1� 
Hj: /��:F6�	
�1��4���3�3/"
1��E/#�!�4#�
�
�46�@5���3�3/"
  0.027 0.658 %G��1� 

Hk: ��9��#��
��
E/#�!.B#������
��@5���3�3/"
1��E/#�!�4#�
�
�46�@5���3�3/"
  0.689** 0.000 "!���� 
**. �D��
�+�/�����I���
�"
��0��.�/'
��

����
] 0.01 (2-tailed) 

�#��+��'X

)�/�#���+,��D#��
# 

(Security and Privacy) 

+�/�����X�"!� �������
� 

(Technology Self-Efficacy) 

����
��&%*� +�/�
(�0��.�'%�
� 

(Perceived Usefulness) 

����
��&%*� �#�� D�
������(% �� 

(Perceived Ease of Use) 

�
�	[/�#�������������
� 

(Personal Innovativeness) 

�
�������.��\��D�"o������ 

(Attitude Toward) 

�������.�/�(% �� 

(Behavioral Intention) 

Hb 
Ha 

Hc 

Hd 

He 

Hf 

Hg 

Hh 

Hj 

Hk 
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 4
�#
�
��
� 4.2 .�	�
E/�
��21!�1��#�C
��
� 1 (Ha) �
��
�	
�1��.���A
�6�	�
�#�	�%����
��� 0.628 �/6�
��
 Sig (2-tailed) ���
��� 0.000 H����5!"�	�
 0.01 )�' #D�
�
�����85���%�63"@�A+!����3�3/"
�
�	
�1��.���A�����9��#�#�!.B#������
�46�@5���3�3/"
-%��
��9�
��2
"	��� 2����,�4��%G��1� Ha0 �/6"!���� Ha1 �/�
	�=!�
�����85���%�63"@�A+!����3�3/"

1��E/#�!��9��#��
��
E/#�!.B#������
��@5���3�3/"
 

 E/�
��21!�1��#�C
��
� 2 (Hb) �
��
�	
�1��.���A�6�	�
�#�	�%����
��� 0.738 
P�. �+,��D���.�����.��'������ �/6�
��
 Sig (2-tailed) ���
��� 0.000 H����5!"�	�
 0.01 )�' #D�
�
������85���%�63"@�A+!����3�3/"
�
�	
�1��.���A����4#�
�
�46�@5���3�3/"
-%����9�
�
�2
"	��� 2����,�4��%G��1� Hb0 �/6"!���� Hb1 �/�
	�=!�
�����85���%�63"@�A+!����3�3/"
1��E/
#�!�4#�
�
�46�@5���3�3/"
 

 E/�
��21!�1��#�C
��
� 3 (Hc) �
��
�	
�1��.���A�6�	�
�#�	�%����
��� 0.661 
�/6�
��
 Sig (2-tailed) ���
��� 0.000 H����5!"�	�
 0.01 )�' #D��
�����85����	
���
"���
��@5
���3�3/"
�
�	
�1��.���A����
�����85���%�63"@�A+!����3�3/"
-%����9�
��2
"	��� 2����,�4��
%G��1� Hc0 �/6"!���� Hc1 �/�
	�=!�
�����85����	
���
"���
��@5���3�3/"
1��E/#�!�
�����85���
%�63"@�A+!����3�3/"
 
  E/�
��21!�1��#�C
��
� 4 (Hd) �
��
�	
�1��.���A�6�	�
�#�	�%����
��� 0.645 
�/6�
��
 Sig (2-tailed) ���
��� 0.000 H����5!"�	�
 0.01 )�' #D��
�����85����	
���
"���
��@5
���3�3/"
�
�	
�1��.���A�����9��#��
��
E/#�!.B#������
��@5���3�3/"
-%����9�
��2
"	��� 
(Hd) 2����,�4��%G��1� Hd0 �/6"!���� Hd1 �/�
	�=!�
�����85����	
���
"���
��@5���3�3/"
1��E/
#�!��9��#��
��
E/#�!.B#������
��@5���3�3/"
 
  E/�
��21!�1��#�C
��
� 5 (He) �
��
�	
�1��.���A�6�	�
�#�	�%����
��� 0.668 
�/6�
��
 Sig (2-tailed) ���
��� 0.000 H����5!"�	�
 0.01 )�' #D�%�61����7
.+!����3�3/"
�

�	
�1��.���A����
�����85���%�63"@�A+!����3�3/"
-%����9�
��2
"	��� (He) 2����,�4��%G��1� 
He0 �/6"!���� He1 �/�
	�=!%�61����7
.+!����3�3/"
1��E/#�!�
�����85���%�63"@�A+!�
���3�3/"
 
  E/�
��21!�1��#�C
��
� 6 (Hf) �
��
�	
�1��.���A�6�	�
�#�	�%����
��� 0.661 
�/6�
��
 Sig (2-tailed) ���
��� 0.000 H����5!"�	�
 0.01 )�' #D�%�61����7
.+!����3�3/"
�

�	
�1��.���A����
�����85����	
���
"���
��@5���3�3/"
-%����9�
��2
"	��� (Hf) 2����,�4��
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%G��1� Hf0 �/6"!���� Hf1 �/�
	�=!%�61����7
.+!����3�3/"
1��E/#�!�
�����85����	
���
"��
�
��@5���3�3/"
 
  E/�
��21!�1��#�C
��
� 7 (Hg) �
��
�	
�1��.���A�6�	�
�#�	�%����
��� 0.558 
P�. �
��
�5!"�
�1�2��#
�
��/6�
��
 Sig (2-tailed) ���
��� 0.000 H����5!"�	�
 0.01 )�' #D��#��
+��'X

)�/�#���+,��D#��
#���#���
�"
��0����
�����85���%�63"@�A+!����3�3/"
-%����9�
�
�2
"	��� (Hg) 2����,�4��%G��1� Hg0 �/6"!���� Hg1 �/�
	�=!�#��+��'X

)�/�#���+,��D#��
#
1��E/#�!�
�����85���%�63"@�A+!����3�3/"
 
  E/�
��21!�1��#�C
��
� 8 (Hh) �
��
�	
�1��.���A�6�	�
�#�	�%����
��� 0.021 
�/6�
��
 Sig (2-tailed) ���
��� 0.737 P�. ����#D� 0.01 �12�	�
/��:F6�	
�1��4���3�3/"
-��
�
�	
�1��.���A����
�����85���%�63"@�A+!����3�3/"
 2����,�4��%G��1� Hh1 �/6"!���� Hh0 

�/�
	�=!/��:F6�	
�1��4���3�3/"
-��1��E/#�!�
�����85���%�63"@�A+!����3�3/"
 �/6-����

%I44�"�
,-%��
�
��21!�1��#�C
�25	"�
��
��
�
�+�/�����D�	
��2�!" 
  E/�
��21!�1��#�C
��
� 9 (Hj) �
��
�#���
�"
��0�/�#D� �
#)+���D��
� 0.027 
)�/���D� Sig (2-tailed) ��D��
� 0.658 P�. ����#D� 0.01 �12�	�
/��:F6�	
�1��4���3�3/"
-��
�
�	
�1��.���A����������.�/�(%�������
� 2����,�4��%G��1� Hj1 �/6"!���� Hj0 �/�
	�=!/��:F6
�	
�1��4���3�3/"
-��1��E/#�!�4#�
�
�46�@5���3�3/"
 �/6-����
%I44�"�
,-%��
�
��21!�
1��#�C
�25	"�
��
��
�
�+�/�����D�	
��2�!" 
  E/�
��21!�1��#�C
��
� 10 (Hk) �
��
�	
�1��.���A�6�	�
�#�	�%����
��� 0.689 
�/6�
��
 Sig (2-tailed) ���
��� 0.000 H����5!"�	�
 0.01 )�' #D���9��#��
��
E/#�!.B#������
�
�@5���3�3/"
�
�	
�1��.���A����4#�
�
�46�@5���3�3/"
-%����9�
��2
"	��� 2����,�4��%G��1� Hk0 

�/6"!���� Hk1 �/�
	�=!��9��#��
��
E/#�!.B#������
��@5���3�3/"
1��E/#�!�4#�
�
�46�@5
���3�3/"
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4.3.2 �
��21!�1��#�C
�25	"�
��
��
�
�+�/�����D�	
��2�!"�@���15�!"�
���
" 
 

 �$$��)	���� 1 Ha: �
�����85���%�63"@�A+!����3�3/"
 (PU) 1��E/#�!��9��#��
��

E/#�!.B#������
��@5���3�3/"
 (A) 

Ha0: βPU = 0 
 Ha1: βPU ≠ 0 

���� ��. 4.3 
�D��
�+�/�����I�#��*'*�
!� �
�����85���%�63"@�A1��E/#�!��9��#��
��
E/#�!.B#������
��@5 

Model �
�+�/�����D�	
��2�!"�@��1�	� t Significant 

B Standard Error 
(�D�� ��.) 1.975 0.167 11.785 0.000 
�
�����85���%�63"@�A+!����3�3/"
 0.541 0.041 13.171 0.000 

���� ��. 4.4  
ANOVA !� �
�����85���%�63"@�A1��E/#�!��9��#��
��
E/#�!.B#������
��@5 
Model Sum of Squares df Mean Square F Sig. 

1 Regression 51.138 1 51.138 173.469 0.000 

Residual 78.711 267 0.295   

Total 129.849 268    

���� ��. 4.5  
Model Summary �
�����85���%�63"@�A1��E/#�!��9��#��
��
E/#�!.B#������
��@5 

Model R R Square Adjusted R Square Std. Error of the Estimate 

1 0.628 0.394 0.392 0.54295 

 4
�#
�
��
� 4.3 �/6 4.4 .�	�
 �
��62���	
��@=�!���� 95% ��
 significant �5!"�	�
 
0.05 4��%G��1� Ha0 �/6"!���� Ha1 �/�
	�=! �
�����85���%�63"@�A+!����3�3/"
1��E/#�!
��9��#�#�!.B#������
�46�@5���3�3/"
 1
�
���+
"��%0�1��
�-252���
, 

Ha: A = 1.975 + 0.541PU  
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 4
�1��
�+5
�#5��/�
	-25	�
 ��=�!�
�����85���%�63"@�A+!����3�3/"
 (PU) �.���+�,�
461��E/��5��9��#�#�!.B#������
�46�@5���3�3/"
 (A) �.���+�,�25	" 
 4
�#
�
��
� 4.5 �
�����85���%�63"@�A+!����3�3/"
�����*�����
�#��\
�)+�
!� ��9��#��
��
E/#�!.B#������
��@5���3�3/"
�'%�%�
�/ 39.2  
 

 �$$��)	���� 2 Hb: �
�����85���%�63"@�A+!����3�3/"
 (PU) 1��E/#�!�4#�
�
�46
�@5���3�3/"
 (BI) 

 Hb0: βPU = 0 
 Hb1: βPU ≠ 0 

���� ��. 4.6  
�D��
�+�/�����I�#��*'*�
!� �
�����85���%�63"@�A1��E/#�!�4#�
�
�46�@5 

Model �
�+�/�����D�	
��2�!"�@��1�	� t Significant 

B Standard Error 
(�D�� ��.) 0.532 0.180 2.960 0.003 
�
�����85���%�63"@�A+!����3�3/"
 0.788 0.044 17.896 0.000 

���� ��. 4.7  
ANOVA !� �
�����85���%�63"@�A1��E/#�!�4#�
�
�46�@5���3�3/"
 

Model Sum of Squares df Mean Square F Sig. 

1 Regression 108.744 1 108.744 320.269 0.000 

Residual 90.657 267 0.340   

Total 199.401 268    

���� ��. 4.8  
Model Summary !� �
�����85���%�63"@�A1��E/#�!�4#�
�
�46�@5���3�3/"
 

Model R R Square Adjusted R Square Std. Error of the Estimate 

1 0.738 0.545 0.544 0.58270 
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 4
�#
�
��
� 4.6 �/6 4.7 .�	�
 �
��62���	
��@=�!���� 95% ��
 significant �5!"�	�
 
0.05 4��%G��1� Hb0 �/6"!���� Hb1 �/�
	�=! �
�����85���%�63"@�A+!����3�3/"
1��E/#�!�4#�

�
�46�@5���3�3/"
 1
�
���+
"��%0�1��
�-252���
, 

Hb: BI = 0.532 + 0.788PU  

 4
�1��
�+5
�#5��/�
	-25	�
 ��=�!�
�����85���%�63"@�A+!����3�3/"
 (PU) �.���+�,�
461��E/��5�4#�
�
�46�@5���3�3/"
 (BI) �.���+�,�25	" 

 4
�#
�
��
� 4.8 �
�����85���%�63"@�A+!����3�3/"
�����*�����
�#��\
�)+�
!� �4#�
�
�46�@5���3�3/"
�'%�%�
�/ 54.4  

 
 �$$��)	���� 3 Hc: �
�����85����	
���
"���
��@5���3�3/"
 (PEOU) 1��E/#�!�
�

����85���%�63"@�A+!����3�3/"
 (PU) 
 Hc0: βPEOU = 0 
 Hc1: βPEOU ≠ 0 

���� ��. 4.9 
�D��
�+�/�����I�#��*'*�
!� �
�����85����	
���
"���
��@51��E/#�!�
�����85���%�63"@�A 

Model �
�+�/�����D�	
��2�!"�@��1�	� t Significant 

B Standard Error 
(�D�� ��.) 0.765 0.227 3.369 0.001 
�
�����85����	
���
"���
��@5���3�3/"
 0.816 0.057 14.413 0.000 

���� ��. 4.10  
ANOVA !� �
�����85����	
���
"���
��@51��E/#�!�
�����85���%�63"@�A 

Model Sum of Squares df Mean Square F Sig. 

1 Regression 76.575 1 76.575 207.734 0.000 

Residual 98.421 267 0.369   

Total 174.996 268    
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���� ��. 4.11 
Model Summary �
�����85����	
���
"���
��@51��E/#�!�
�����85���%�63"@�A 

Model R R Square Adjusted R Square Std. Error of the Estimate 

1 0.661 0.438 0.435 0.60714 

 4
�#
�
��
� 4.9 �/6 4.10 .�	�
 �
��62���	
��@=�!���� 95% ��
 significant �5!"
�	�
 0.05 4��%G��1� Hc0 �/6"!���� Hc1 �/�
	�=! �
�����85����	
���
"���
��@5���3�3/"
1��E/
#�!�
�����85���%�63"@�A+!����3�3/"
 1
�
���+
"��%0�1��
�-252���
, 

Hc: PU = 0.765 + 0.816PEOU  

 4
�1��
�+5
�#5��/�
	-25	�
 ��=�!�
�����85����	
���
"���
��@5���3�3/"
 (PEOU) 
�.���+�,�461��E/��5�
�����85���%�63"@�A+!����3�3/"
 (PU) �.���+�,�25	" 

 4
�#
�
��
� 4.11 �
�����85����	
���
"���
��@5���3�3/"
�����*�����
�#��\
�
)+�!� �
�����85���%�63"@�A+!����3�3/"
�'%�%�
�/ 43.5  

 
 �$$��)	���� 4 Hd: �
�����85����	
���
"���
��@5���3�3/"
 (PEOU) 1��E/#�!

��9��#��
��
E/#�!.B#������
��@5���3�3/"
 (A) 
 Hd0: βPEOU = 0 

 Hd1: βPEOU ≠ 0 

���� ��. 4.12 
�D��
�+�/�����I�#��*'*�
!� �
�����85����	
���
"���
��@51��E/#�! 

��9��#��
��
E/#�!.B#������
��@5 
Model �
�+�/�����D�	
��2�!"�@��1�	� t Significant 

B Standard Error 
(�D�� ��.) 1.419 0.199 7.115 0.000 
�
�����85����	
���
"���
��@5���3�3/"
 0.685 0.050 13.789 0.000 
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���� ��. 4.13 
ANOVA !� �
�����85����	
���
"���
��@51��E/#�!��9��#��
��
E/#�!.B#������
��@5 

Model Sum of Squares df Mean Square F Sig. 

1 Regression 54.007 1 54.007 190.132 0.000 

Residual 75.842 267 0.284   

Total 129.849 268    

���� ��. 4.14  
Model Summary !� �
�����85����	
���
"���
��@51��E/#�!��9��#��
��
E/#�!.B#������
��@5 
Model R R Square Adjusted R Square Std. Error of the Estimate 

1 0.645 0.416 0.414 0.53296 

 4
�#
�
��
� 4.12 �/6 4.13 .�	�
 �
��62���	
��@=�!���� 95% ��
 significant �5!"
�	�
 0.05 4��%G��1� Hd0 �/6"!���� Hd1 �/�
	�=! �
�����85����	
���
"���
��@5���3�3/"
1��E/
#�!��9��#��
��
E/#�!.B#������
��@5���3�3/"
 1
�
���+
"��%0�1��
�-252���
, 

Hd: A = 1.419 + 0.685PEOU  

 4
�1��
�+5
�#5��/�
	-25	�
 ��=�!�
�����85����	
���
"���
��@5���3�3/"
 (PEOU) 
�.���+�,�461��E/��5��9��#��
��
E/#�!.B#������
��@5���3�3/"
 (A) �.���+�,�25	" 

 4
�#
�
��
� 4.14 �
�����85����	
���
"���
��@5���3�3/"
�����*�����
�#��\
�
)+�!� ��9��#��
��
E/#�!.B#������
��@5���3�3/"
�%�
�/ 41.4  

 
 �$$��)	���� 5 He: %�61����7
.+!����3�3/"
 (TSE) 1��E/#�!�
�����85���

%�63"@�A+!����3�3/"
 (PU) 
 He0: βTSE = 0 
 He1: βTSE ≠ 0 
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���� ��. 4.15 
�D��
�+�/�����I�#��*'*�
!� %�61����7
.+!����3�3/"
1��E/#�!�
�����85���%�63"@�A 

Model �
�+�/�����D�	
��2�!"�@��1�	� t Significant 

B Standard Error 
(�D�� ��.) 1.360 0.183 7.420 0.000 
%�61����7
.+!����3�3/"
 0.701 0.048 14.680 0.000 

���� ��. 4.16  
ANOVA !� %�61����7
.+!����3�3/"
1��E/#�!�
�����85���%�63"@�A 

Model Sum of Squares df Mean Square F Sig. 

1 Regression 78.161 1 78.161 215.510 .000 

Residual 96.835 267 .363   

Total 174.996 268    

���� ��. 4.17 
Model Summary !� %�61����7
.+!����3�3/"
 1��E/#�!�
�����85���%�63"@�A 

Model R R Square Adjusted R Square Std. Error of the Estimate 

1 0.668 0.447 0.445 0.60223 

 4
�#
�
��
� 4.15 �/6 4.16 .�	�
 �
��62���	
��@=�!���� 95% ��
 significant �5!"
�	�
 0.05 4��%G��1� He0 �/6"!���� He1 �/�
	�=! %�61����7
.+!����3�3/"
 1��E/#�!�
�����85
���%�63"@�A+!����3�3/"
 1
�
���+
"��%0�1��
�-252���
, 

He: PU = 1.360 + 0.701TSE 

 4
�1��
�+5
�#5��/�
	-25	�
 ��=�!%�61����7
.+!����3�3/"
 (TSE) �.���+�,�46
1��E/��5�
�����85���%�63"@�A+!����3�3/"
 (PU) �.���+�,�25	" 

 4
�#
�
��
� 4.17 %�61����7
.+!����3�3/"
�����*�����
�#��\
�)+�!� �
�
����85���%�63"@�A+!����3�3/"
�'%�%�
�/ 44.5  
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 �$$��)	���� 6 Hf: %�61����7
.+!����3�3/"
 (TSE) 1��E/#�!�
�����85����	
�
��
"���
��@5���3�3/"
 (PEOU)  

 Hf0: βTSE = 0 
 Hf1: βTSE ≠ 0 

���� ��. 4.18 
�D��
�+�/�����I�#��*'*�
%�61����7
.+!����3�3/"
1��E/#�!�
�����85����	
���
"���
��@5 

Model �
�+�/�����D�	
��2�!"�@��1�	� t Significant 

B Standard Error 
(�D�� ��.) 1.845 0.150 12.311 0.000 
%�61����7
.+!����3�3/"
 0.563 0.039 14.408 0.000 

���� ��. 4.19  
ANOVA !� %�61����7
.+!����3�3/"
 1��E/#�!�
�����85����	
���
"���
��@5 

Model Sum of Squares df Mean Square F Sig. 

1 Regression 50.341 1 50.341 207.587 0.000 

Residual 64.749 267 0.243   

Total 115.090 268    

���� ��. 4.20 
Model Summary !� %�61����7
.+!����3�3/"
 1��E/#�!�
�����85����	
���
"���
��@5 

Model R R Square Adjusted R Square Std. Error of the Estimate 

1 0.661 0.437 0.435 0.49245 

 4
�#
�
��
� 4.18 �/6 4.19 .�	�
 �
��62���	
��@=�!���� 95% ��
 significant �5!"
�	�
 0.05 4��%G��1� Hf0 �/6"!���� Hf1 �/�
	�=! %�61����7
.+!����3�3/"
 1��E/#�!�
�����85���
�	
���
"���
��@5���3�3/"
 1
�
���+
"��%0�1��
�-252���
, 

Hf: PEOU = 1.845 + 0.563TSE 

 4
�1��
�+5
�#5��/�
	-25	�
 ��=�!%�61����7
.+!����3�3/"
 (TSE) �.���+�,�46
1��E/��5�
�����85����	
���
"���
��@5���3�3/"
 (PEOU) �.���+�,�25	" 
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 4
�#
�
��
� 4.20 %�61����7
.+!����3�3/"
�����*�����
�#��\
�)+�!� �
�
����85����	
���
"���
��@5���3�3/"
�'%�%�
�/ 43.5  

 
 �$$��)	���� 7 Hg: �#��+��'X

)�/�#���+,��D#��
# (SP) 1��E/#�!�
�����85���

%�63"@�A+!����3�3/"
 (PU) 
 Hg0: βSP = 0 

 Hg1: βSP ≠ 0 

���� ��. 4.21 
�D��
�+�/�����I�#��*'*�
!� �#��+��'X

)�/�#���+,��D#��
#1��E/#�! 

�
�����85���%�63"@�A 
Model �
�+�/�����D�	
��2�!"�@��1�	� t Significant 

B Standard Error 
(�D�� ��.) 2.563 0.137 18.730 0.000 
�#��+��'X

)�/�#���+,��D#��
# 0.436 0.040 10.974 0.000 

���� ��. 4.22 
 ANOVA !� �#��+��'X

)�/�#���+,��D#��
#1��E/#�!�
�����85���%�63"@�A 

Model Sum of Squares df Mean Square F Sig. 

1 Regression 54.399 1 54.399 120.438 0.000 

Residual 120.597 267 0.452   

Total 174.996 268    

���� ��. 4.23 
Model Summary !� �#��+��'X

)�/�#���+,��D#��
#1��E/#�!�
�����85���%�63"@�A 

Model R R Square Adjusted R Square Std. Error of the Estimate 

1 0.558 0.311 0.308 0.67207 

 4
�#
�
��
� 4.21 �/6 4.22 .�	�
 �
��62���	
��@=�!���� 95% ��
 significant �5!"
�	�
 0.05 4��%G��1� Hg0 �/6"!���� Hg1 �/�
	�=! �#��+��'X

)�/�#���+,��D#��
#1��E/#�!
�
�����85���%�63"@�A+!����3�3/"
 1
�
���+
"��%0�1��
�-252���
, 



62 
 

Hg: PU = 2.563 + 0.436SP 

 4
�1��
�+5
�#5��/�
	-25	�
 ��=�!�#��+��'X

)�/�#���+,��D#��
# (SP) �.���+�,�
461��E/��5�
�����85���%�63"@�A+!����3�3/"
 (PU) �.���+�,�25	" 

 4
�#
�
��
� 4.23 �#��+��'X

)�/�#���+,��D#��
#�����*�����
�#��\
�)+�
!� �
�����85���%�63"@�A+!����3�3/"
�'%�%�
�/ 30.8  

 
 �$$��)	���� 8 Hh: /��:F6�	
�1��4���3�3/"
 (PI) 1��E/#�!�
�����85���

%�63"@�A+!����3�3/"
 (PU) �/6�$$��)	���� 9 Hj: /��:F6�	
�1��4���3�3/"
 (PI) 1��E/
#�!�4#�
�
�46�@5���3�3/"
 (BI) -����
�
�21!�1��#�C
�25	"�
��
��
�
�+�/�����D�	
�
�2�!"��=�!�4
�����'���1��#�C
�25	"�
��
��
1��%�61����D1�1��.���A�.
"�A1�� �/5	.�	�

-��1!2�/5!����1��#�C
� 

 
 �$$��)	���� 10 Hk: ��9��#��
��
E/#�!.B#������
��@5���3�3/"
 (A) 1��E/#�!

�4#�
�
�46�@5���3�3/"
 (BI) 
 Hk0: βA = 0 
 Hk1: βA ≠ 0 

���� ��. 4.24 
�D��
�+�/�����I�#��*'*�
!� ��9��#��
��
E/#�!.B#������
��@51��E/#�! 

�4#�
�
�46�@5���3�3/"
 
Model �
�+�/�����D�	
��2�!"�@��1�	� t Significant 

B Standard Error 
(�D�� ��.) 0.153 0.230 0.664 0.507 
��9��#��
��
E/#�!.B#������
��@5���3�3/"
 0.854 0.055 15.540 0.000 
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���� ��. 4.25  
ANOVA !� ��9��#��
��
E/#�!.B#������
��@51��E/#�!�4#�
�
�46�@5���3�3/"
 

Model Sum of Squares df Mean Square F Sig. 

1 Regression 94.697 1 94.697 241.481 0.000 

Residual 104.704 267 0.392   

Total 199.401 268    

���� ��. 4.26 
Model Summary !� ��9��#��
��
E/#�!.B#������
��@51��E/#�!�4#�
�
�46�@5���3�3/"
 

Model R R Square Adjusted R Square Std. Error of the Estimate 

1 0.689 0.475 0.473 0.62622 

 4
�#
�
��
� 4.24 �/6 4.25 .�	�
�
��62���	
��@=�!���� 95% ��
 significant �5!"
�	�
 0.05 4��%G��1� Hk0 �/6"!���� Hk1 �/�
	�=! ��9��#��
��
E/#�!.B#������
��@5���3�3/"

1��E/#�!�4#�
�
�46�@5���3�3/"
 1
�
���+
"��%0�1��
�-252���
, 

Hk: BI = 0.153 + 0.854A 

 4
�1��
�+5
�#5��/�
	-25	�
 ��=�!��9��#��
��
E/#�!.B#������
��@5���3�3/"
 (A) 
�.���+�,�461��E/��5�4#�
�
�46�@5���3�3/"
 (BI) �.���+�,�25	"  

 4
�#
�
��
� 4.26 ��9��#��
��
E/#�!.B#������
��@5���3�3/"
�����*�����

�#��\
�)+�!� �4#�
�
�46�@5���3�3/"
�'%�%�
�/ 47.3  
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 1��%E/�
��21!�1��#�C
�25	"�
��
��
�
�+�/�����D�	
��2�!"�@���15�!"�
�
��
" 1
�
��!���
"�	
�E���%��6�	�
��	
�1��.���A+!�%I44�"25
�#�
�> -252���
, 

 
7
.�
� 4.7 �12���
�	
�E���%��6�	�
��	
�1��.���A+!�%I44�"25
�#�
�> 

 
 
 
 

 
 
 
 
 
 
 
 

 +d��

��.�D \��D��������.�/�(% �������.��'���)������� ���
���
��������
� 

�-� %I44�"25
�����
��&%*� +�/�
(�0��.�'%�
� 54.4% �� � ���-�+d��

'%���
�������.��\��D�

"o������ 47.3%    

 %I44�"�
�1��E/#�!%I44�"25
�����
��&%*� +�/�
(�0��.�'%�
��
��
�1�2 �=! %I44�"25
�

%�61����7
.+!����3�3/"
 44.5% �� � ���-� +d��

'%������
��&%*� �#�� D�
������(% ��

'%#
 43.5% )�/+d��

'%���#��+��'X

)�/�#���+,��D#��
# P�. �D \��D�%I44�"'%������
��&%*� 

+�/�
(�0��.�'%�
� 30.8% ������'
� 

�#��+��'X

)�/�#���+,��D#��
# 
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